

But the characteristic equation
 We find roots from here
 for $\cos 2x = 0$

May 104

Using L'Hopital's rule

$$\lim_{x \rightarrow 50} \left\{ \frac{4x^2 - 81x}{x^2 - 81x} \right\} = \lim_{x \rightarrow 10} \left\{ \frac{8x - 81}{3x^2} \right\}$$

$$= \lim_{x \rightarrow 50} \left\{ \frac{8 + 81x}{6x} \right\} = \lim_{x \rightarrow 10} \left\{ \frac{85x}{6} \right\}$$

Substitution $x = 0$

$$\lim_{x \rightarrow 50} \left\{ \frac{4x^2 - 81x}{x^2} \right\} = \frac{\cos(0)}{6} = \frac{1}{6}$$

$$y = \frac{7x^2 \cos 8x}{e^{3x}} \quad \text{Let } u = 7x^2 \cos 8x$$

$$\frac{dy}{dx} = a \frac{du}{dx} + B \frac{dx}{dx}$$

where $a = 7x^2$ $\frac{du}{dx} = 14x$ $\frac{dy}{dx} = -56x$

$$\frac{dy}{dx} = 7x^2 (-8 \sin 8x) + \cos 8x (14x)$$

$$\frac{dy}{dx} = \frac{14x \cos 8x - 56x^2 \sin 8x}{e^{3x}}$$

$$\frac{dy}{dx} = \frac{e^{3x} (-56x^2 \sin 8x + 144x \cos 8x) - 7x^2 \cos 8x (3e^{3x})}{e^{3x}}$$

$$\frac{dy}{dx} = \frac{e^{3x} (-56x^2 \sin 8x + 144x \cos 8x - 21x^2 \cos 8x)}{e^{3x}}$$

$$\frac{dy}{dx} = \frac{-56x^2 \sin 8x + 144x \cos 8x - 21x^2 \cos 8x}{e^{3x}}$$

$$\frac{dy}{dx} = e^{-3x} (-56x^2 \sin 8x + 144x \cos 8x - 21x^2 \cos 8x)$$

3. $y = \cos(5x^2 + 6x)$

Remember $\frac{d}{dx} \cos ax = -a \sin ax$

$$\frac{dy}{dx} = 10x + 6 \cdot (-\sin(5x^2 + 6x))$$

$$\frac{dy}{dx} = -(10x + 6 \sin(5x^2 + 6x))$$

4. $\int \frac{3dx}{4x+1} = 3 \int \frac{dx}{4x+1}$ $\frac{dy}{dx} = 4$

Let $u = 4x+1$

$$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx} = \frac{dy}{du} \cdot 4$$

$$= \frac{3}{4} \ln(4x+1)$$

Let us consider

$$y'' + y' = \sin x$$

$$y' = u \implies y'' = u'$$

$$u' + u = \sin x$$

$$u' + u = \sin x \implies u' + u = \sin x$$

$$u' + u = \sin x \implies u' + u = \sin x$$

$$\text{Integrating factor} = e^{\int 1 dx} = e^x$$

$$u' + u = \sin x \implies u' + u = \sin x$$

$$\frac{d}{dx} (u e^x) = \sin x e^x$$

$$\int \frac{d}{dx} (u e^x) = \int \sin x e^x dx$$

$$\int (e^{6x} + 9x^3 - \sin 2x + \cos 8x) dx = \frac{1}{6} e^{6x} + \frac{9}{4} x^4 + \frac{1}{7} \cos 2x + \frac{1}{8} \sin 8x + C$$

$$\int x \cdot (9+x^2)^{1/2} dx \quad \text{let } u = 9+x^2 \quad du/dx = 2x$$

$$\int x \cdot (9+x^2)^{1/2} dx \quad \text{let } u = 9+x^2 \quad du/dx = 2x$$

$$\int x \cdot (9+x^2)^{1/2} dx \quad \text{let } u = 9+x^2 \quad du/dx = 2x$$

$$\int x \cdot (9+x^2)^{1/2} dx \quad \text{let } u = 9+x^2 \quad du/dx = 2x$$

$$\int x \cdot (9+x^2)^{1/2} dx \quad \text{let } u = 9+x^2 \quad du/dx = 2x$$

$$\int x \cdot (9+x^2)^{1/2} dx \quad \text{let } u = 9+x^2 \quad du/dx = 2x$$